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SECTIONA (10 m‘hrks) ‘
Answer ALL question in this secnion !
.
' For cach of the items (i) — (X} choose the correct gnswer from amoDg the given altematives ﬁ
write its letter beside the item nuimber. - B
\ . a/~ Yo s e 2 ¥ ﬂ_\ i »
o (1) A liquid x needs 2000 J to be heated through 5 "C. An c_r(;_ual misss v.’_ waler with sp '.,, i
heat 4200 Jkg®C needs 6000 J to be heated tHrough 10 °C. The specific heat cap.c 4
xin Jikg °C s "
A 2300 8 1400 C 1000, D 700 E 420

vof 72 km/h. How far doe$ it tray el in V4 minute?

(1) A car has a velocity
A 600 m B 240 m C 36m (D 60m 1000 m.
(1ii) Ihe absolute zero temperature 1s equivaient ta
A <273 °K B 0°C C -273°C |D -100°C E 273°K t' i3
! .
.

(i) If 2 hottle capable of holding 200 g of a liquid of*density 800 kg/m’ is allowed to ho d 4"
160 g of sand of density 3200 kg/m’ the mass bf water needed to fill up the bottle is & - 8

A 200 B 40g C 90g Tso g E100g L
(v) Equal and opposite parallel forces form what 13 calied ;-,

A couple B centre of gravity C torgue D equilibnum E stability.

(wi) Givert an electric kettle with the heating elemeht labelled 3 KW 240 V. The resistati
of the element.of the kettle is ‘ i
A 2050 B 1920 C 0:205¢ D 0.0i92Q E 1920

|
[he direction of the induced current when a stritight conductor moves through a magpaﬁc ' s

& (vi)
* field can be determined by applying the l ~
ool -
' A Maxwell's cork screw ule {
>1 B Fleming's right hand rule /i
"' ¢ Right hand grip rule | s

D Fieming's left hand rule ' ‘SI’

E  Ampere's swimming rule. '

(viii)  The percetved loudness of sound does not depend on the
# A amplitude of sound wave i
: R velocity of the solidwave . ¥
¢ wave length of sound wave 5 |
D back ground sounds . ‘
‘| E  frequency of sound,
1 .
ix) Which of the following statements is not true fl)r a slhide projecton?

A A converging lens is used

B A condenser is necessary

' The image is magnified abd real
D A lamp is assential

E  The image brightness is increased by the lciﬂ.
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ix) A lorse F Newtons gives a mass of 2 kg an ucccjtm}mn of 4 misec’. A force of 3F
Newtons will give a mass of B kg an acceleratiod of
.

ms” £ 24 ms’

9

Al me? B 3ms® C6mss . D

SECTIONB (30 marks}

)
Answer ALL guestions in this section. All workings for ca:}: guestion (must be shown clearly

c. \\'Ll is the pressure exerted on the table

(a) An objett of mass 1 kgtestson 0.1 m” of a fabl
to N.Lrn given that the density of mercury i8

(b) Convert the standard pressure 76 cm of mercury
13600 kg/m’
A maotor cas is uniformly retarded and brought te rest from alspeed of 108 kit tn §5 seconds. Find -
is accelerabion. ‘ g
v

Distinguish between “density” and "relative density” |

A man weighing 500 N runs up a sigcass and in 5 seconds ses 3.75 m, Caloulate his power. e
| 2
Distinguish between resistivity and temperature coefficient of resistance of a material. L. I

Caleatlate the single resistance which could be used m a carcull instead of 2, 3 and 4 oluns

respectively connected in parallel .
A pulley rotates 100 tunes per minute. 1 the pulley bas & diageter of 50 cm
belt, what will the velocity of the belt inmfsec be?

1t of & concave mirror of facnf length 12 cm. Find the nature and

and 15 used to drive a

An object is placed 20 cm in frof

phsition of the image.

P

400 mil at a pressure of 490 kN/m and a temperature of 30 °C.

A gas occupies a volume ol

Calculate its volume at 5.1 |

How many kilograms of copper ¢an be raised from 15° 10 60° By the absorption of 80 kJ of heat
ner 16 390 Jkg'C

| f

assuming the specific heat capacity of copp

SECTIONC (60 marks)
Answer THREE (3) questions from this section

|

on two supports A add B, 4 metres apart. A is at one end

A uniform horizontal beam & m long rests )
Caleulate the readtions of the supports ot the beam
-

of the heam. The mass of the beamn s 20 Ky
I'he diagram helow shows an clectric circuit conneéted to & 230:V supply. Drelermune :

(a) thereading of the voltmeter V and cach of the ammetersiA, and A,

(b) the power in the 30 €2 coil v 0 "
B— VN Ar b
A/-A' ::vz\f:/\ N J
S . ‘ | ANDN———
v v
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A train has 8 unifokm acceleration of 0.2 m/sec’ along a straight
!

Caloulate l

l

{a) the velocity al{cr an interval of 16 seconds from rest

(i) the time xcqud lo attain a velocity of 50 kmvh
(€] the distance travelled from rest until the train attaing a veloc

(d) 1he time taken for the velocity to increase from 30 kmvh to 5'

gunny that time.

A bady having a mass of 200 kg 15 resting on top of a s¢
and an effort of 36 N has to be applied tangentially at a radius of

Calculate {3) the velocity ratio
J
(b) the mechanical advantage

(c) the efficiency.

]

1]
Two kilograms of dry ice at 0 °C are placed in a vesscl containing Svkg of water at 38 °C, The watet 55‘ ‘
equivalent of the vessel is 0.2 kg Calculate the temperatire of te water when the ice s completely o
melied, assuming there is no loss or absorption of heat from outs de the vessel. Take the specific |

latent heat of fusion of ice as 335 Jkg

N

rew- Juk The screw has a pitch of 8 mm

&
. *

~ Find more free ed

srack

ty of 30 kmv'h

( kmvh and the distance travelled

|

£250 mm to Jift the load






